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http://p-www.iwate-pu.ac.jp/~david/Math/index.html
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« SEH(Theorem)
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2a
ax” +bx+c=0 (a=0) DRIL.
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sin“@+cos’ @ =1 tang ="
cOS
(D
SEE ! sin?é & sin20 1HES&! 1
sin“ @ =sin@xsin @ sin20 =sin2x @ = 2sin @cos
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n(AU B)=n(A)+n(B)-n(ANB)

2017/4/20 R 15



2017/4/20

=AN

sin(A+B)=sin Acos B+cos Asin B
sin(A-B) =sin Acos B-cos Asin B

cos(A+B)=cos Acos B-sin Asin B
cos(A-B)=cos Acos B+sin Asin B
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O (x*) =ax* (alLFEER)

oERD
a+1
jx dx = = 1+C (alda = —172 5 %%, ClIFETEER)
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EHIZDOLT)
o % (commutative)

atb=b+a, ab=ba, ab+ba=2ab,="-
. E & (associative)
a+(b+c)=(a+b)+c, a(bc)=(ab)c==-
. B (identity)

a+0=a and 0+b=Db

o« W (inverse)

at(-a)=0, a. (1/a) =1

.« 4EE (distributive)
a(b-c)=ab-ac, a(b-c)=ab-ac
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